

$$\overset{\#}{\eta} \underset{Z}{\xi} z = \xi \underset{E}{\eta} z$$

$$\underset{E}{\eta} \overset{\#}{\xi} \sigma = \int_{d\tau}^E e^{-\tau^*} e^{\eta^*} \underset{E}{\tau} \overset{\#}{\xi} \sigma$$

$$x = \overset{\#}{\eta} \xi; \quad y = \overset{\#}{\tau} \sigma$$

$$\begin{aligned} x \overset{\#}{\xi} \underset{Z}{c} &= \overset{\#}{\eta} \underset{Z}{\xi} \overset{\#}{\xi} \underset{Z}{c} = \xi \overset{\#}{\eta} \underset{E}{\tau} \underset{E}{c} = \int_{d\sigma}^E e^{-\sigma^*} e^{\xi^*} \sigma \overset{\#}{\eta} \underset{E}{\tau} \underset{E}{c} = \int_{d\sigma}^E e^{-\sigma^*} e^{\xi^*} \int_{d\tau}^E e^{-\tau^*} e^{\tau^* \eta} \sigma \overset{\#}{\xi} \underset{E}{\tau} \underset{E}{c} \\ &= \int_{d\sigma}^E \int_{d\tau}^E e^{-\sigma^*} e^{-\tau^*} e^{\xi^*} e^{\tau^* \eta} \overset{\#}{\tau} \underset{E}{\xi} \overset{\#}{\xi} \underset{E}{c} = \int_{d\sigma}^E \int_{d\tau}^E e^{-\sigma^*} e^{-\tau^*} e^{\xi^*} e^{\tau^* \eta} y \overset{\#}{\xi} \underset{Z}{c} \end{aligned}$$